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Note : Attempt all questions.
T U it YIS &

Graph paper is required.

A &ﬂg@@%mﬁa@aﬁmﬁ%l
General Instructions : Q@& of calculator is not permitted.
@me1ﬁ?ﬁqw§rm(a) ¥ wgfascda y, @S

(&)-4 g wrl 1 qfd a1 @oe (W) ¥ geyewd g 1 E
Y® I T 1 3% Tfed B
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write
true/false are given. Each question carries 1 mark.

(iif) T S 2 V 6 T ARSI T § | 7lS TH W 2 3F
msifea €

Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.
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(iv) W AR 7 & 10 TF AT W ¥ | 7% ww w3 s
aafed € 1
Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks.
(v) 9T HTH 11 A 14 qF AEEdT ¥ € | TIF I T iafw
forhen R 1 wels 9 W 4 3 Al © |
Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
(vi) TS 15 T 16 THE3TUT 999 § | T4k wvq o stiaftes famea
8 | I UYT W 5 3 afrefed ¥
Question Nos. 15 and 16 are short answer type questions. Each

qucstion has an internal choice. Each yuestion carries 5 marks.
(Vi) 99 T4 17 W 18 SE390T W99 & (T@F U9 W AT faFey
T | ICE YT W 6 3 e &

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

Q{Q,
Tvy1-1 (m—a)nﬁﬁw&%ﬁm; [1x5=5]

(Part-A) Choosi write the correct option :

QQ

() wgue (1) e E
(an 1,1
(&) ~1,-1
(&) 1,1
(q) 0,1

Zeros of polynomial (x2 - 1) are :

(@)
(h)
(©)
(d)

1, -1
-1, -1
[, |
0,1
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(iii)

()

131
saR-3mauRR o Y §

(1 (m 2
(? 0 (9 -1
The arithmetic mean of § and -3 is:
@ 1 b 2
(c) O (@ -1
tan 60° x cot 60° T HIF ENT : '
(30 7‘5 (¥ 1
(@ 3 (@ 0
Value of tan 60° x cot 60° willbe : |
(@) 7'5 () i_
© V3 @._ 0
Ty § R 9 gem i # -
(317 12 (7 &
(@) 6 (3) 4
The nummber of edges in a cuboid is : .
(@ 12 (b) 8:
(c) 6 (d) 4
farg (-2, 4) forw =quter 9 @ ? :
(37) wow wgat (%) fedfa wquta
(%) g wgata

Point (-2, 4) will lie in which quadran??
(a) First quadrant

(¢) Third quadrant
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(@Eve-=) fra i =t gfd Fifag

[4]

[1x5=5)

(Part-B) Fill in the blanks :

()

(if)

(i)

(iv)

(v)

(@US-| ) ¥ gal 3w fafan

(1)

2126 x B, A x FAA —— BT

If 12:6:x, then the value of x willbe .

3% sin® = | &), 5 0 F1 U —— M)

If'sin® = 1, then the value of § willbe

W H TR I S —— Bt B

The largest chord of a circle is

ﬁmmmﬁmﬁmﬁmﬁwmﬁmtﬁr
ELQ GEr a— )

[f the interest in Fixed Deposit Account is calculated on

quarterly basis, then the rate will be as a percentage
S . ,
wﬁgﬁg&@%ﬁnﬁmﬁ@aﬁﬁm——m%l
&
The le&@ of tangents drawn from an external point to a

circln&-e X

[ 1x5=5)

| (Part-C) Write True or False :

mﬁwﬁwqﬁﬁﬁﬂ=f‘—=£‘— &, @ 7 fgda e yw

-

“a_h_a
If —= =
@G G
unique solution.

in the system of equations, then we will get a
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(i) x-31e3 3 -3 T TR T a1 ¥

x-axis and y-axis both are mutually perpendicular.

(i) aﬁ?ﬁmmﬁmaﬁmm@m#aﬁmﬁﬁ%l

The rate of interest in Recurring Deposit Account 1S higher

than that in Savings Account.

(iv) afe < fa wEY g, @ 4 g watTe €d €

If two triangles are similar, then they are always congruent.

(v) cos (90° — 6)<1 | sin 6 g

The value of cos(90° — ) is sin 6.

qyt-2 Wit £ @ g(x), p(x) F TE TOEETE ®, 4f
gx)=x+1, plx)=x3+2x2 - 2x =1 [2]

Check whether g(x) ige\(&torofp(x),if ‘s_-;r(,wc)=,rr+l,p(.r)=x3+2_vr:3
-2 | N
»
@Q
S -
U-3 &% FFY O % o gt % go aafas ¢d s g, afg

1652+ kx +9 =07 [2]
For what value of & will roots of the equation be real and equal, if

16x2 + kx +9 =07

WA-4 9w fag A fag (4, 3) ¥ & F g0 99 M) 2]

Find the distance from the origin to the point (4, 3).
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‘ [6]
-5 35in 10°.sec 80O F1 A Fa wifag

2]

Find the valye of 3 sin 109. gec 80°,

wA-6 ﬁqﬁmmmﬁmﬁmmm:

(2]
22.20,24, 16, 18,26, 21

Find the median of the following data :

22,20,24, 16, 18, 26, 21

-7 AR (x+3):27::0 .3 ), [ x % W 9w i 3]

If (x+3):27::1: 3, then find the value of x.

Uy1-8 aﬁtrrr’lwx2—5x~24‘=0 ﬁwmﬁmqﬁmmﬁhqt [3]

Find the sum and product of the roots in the quadratic equation
Q™.
x% - 5x - 2%§0 .
& -
\Q‘Zr
N :
TE-9 14 W GAE X Ay v 88w A R ECUEY

MR 1 fsa 7w Fifom [3]

The curved surface area of a cylinder is 88 square cm and height is

14 cm, then find the radius of the base of the cylinder.

qvT-10 qumﬁmﬁmmmﬁﬁm (3]

Find the average of the first 9 odd numbers,
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(7]
WA-11 T 300 T W 5% A wmm R 1,2,3,4 9 5 94 F fag

YR = et areoht A wefva ¥

g (ad ¥ ) 0 1 2 3 4 5

AT =97 (TR o ) 0 15 30 45 60 75

TG 9 WNRY &1 & WY Aer G@iftea | [4]

The interests on deposit Rs. 300 at 5% rate of interest for 1, 2, 3, 4

and 5 years are shown in the following table :

Time (in year) 0 1 2 3 4 5

Simple interest (in Rs.) 0 15 30 45 60 75

Draw the graph between time and simple interest.
3rerar
OR
afq PA = PB %1 a4 3R B & fadwiss %o (2, 0) F (-2,4) & aw
P y-3iy | fed @), 7.2 ¥ Fdvie 91 SIS

If PA = PB and co-ordinates of points 4 and B are (2, 0) and

(-2, 4) respectively and P lies on the y-axis, then find the co-ordinates

of point P.

W-12  fog Fifg fr @ gam e 7 w9 &1 99 ) Jwel & 9l & 9m
Farm e ¥ [4]

Prove that the square of hypotenuse of a right-angled triangle is equal

to the sum of squares of other remaining two sides.
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wvq-13

uva-14

§-4C+

|81
rerar

OR

fog = o s wTga % g O 1 TE 180° e & |
Prove that the sum of opposite angles of a cyclic quadrilateral

1s 180"

@wmwmﬁmﬁwWWIﬂaﬁﬁ.%m (4]

Calculate the volume of a sphere having surface area of 154 sq. cm.

3rgdr

OR

wﬁaqé;snunﬁqﬁfuxxirﬁ.sikiﬁéloﬁﬁﬁiéaaam

HGFT Jd i

The circumference o(&@@ of acylinder is 88 cm and height is 10 cm.
Find the volume %: cylinder.

N
3
foet ARt %{ FEAH T B : 4]
gt | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
:-m’qfﬂ 4 10 i 16 12 8
Find the mode of the following tuble -
T . -—
Class-interval | 0-10 | 10-20 | 20-30 | 39-40 | 30-50
Frequency 4 ) 16 R "
B I __.___..-"'
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arerer
OR
i sifwel w1 Tarr me T e
W 30 35 38 40 42 45 48
L LG L 6 5 6 R 6 2 P

Find the arithmetic mean of the following data :

Marks obtained 30 35 38 40 42 45 48

Frequency 0 5 6 8 6 2 2

Y-15  TF o 3 150 5. WRUE 91w A 2 99 9% ed a9 @ § 9
Fd ¢ 1 3 A F R 5% A &, ot IY 2 a9 s fwaat vt e

e ? (5]
A person deposits Rs. 150 per month in a Recurring Deposit Account
for 2 years. Find the amount he will getat the time of maturity at the

rate of 5% per annum.
Herar

OR

TF =fad 420,000 %. 1 a6 & ferg wrafy s @ F s wvarn) o
M 1 W 6% A 8 a9 =49 3: WE WaAfom e €, @) Forra ffi
vy faer areft veafe et @it ?

A person deposited Rs. 20,000 for one year in a Fixed Deposit
Account. If the rate of intcrest is 6% per annum and the interest is
compounded every six months, then what amount will he get after

due date?
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[10]

W-16 BN ABC % W o ®) T wife fwd 48 = 8 ¥, BC= 5 ¥t
3R ZABC = 60° ¥ | Ta & w2 ¥t fafEw [5]
Construct a circumcircle for triangle ABC where AB = 8 cm,
BC =5 cm and ZABC = 60°. Write the steps of construction also.

AT
OR
6 A,y TR TF WHAG YT F fagE W T FA| T F
z vt fafae |
Construct the incircle of an equilateral triangle of side 6.cm. Write
the steps of construction also,

wen-17 g fodt wamr a@anpﬁnzqamqahapﬁ,ﬁlﬁzaﬂﬁqﬁ
(p+gEl RYAT 6]
If pﬂ" term is q and '™ term is p of an arithmetic progression, then
prove that (p + &} term is. zero.

Hyar
OR
3 Frg o % fag gHie fem ke - Sy =2 3R 6x + 2y = 7 F—
6] Hfgda & B;
i) FEREATR?
For what value of k, system of equations kx — S5y = 2and 6x +2y=7
has—
(i) unique solution;
(iiy no solution?
S-4C+
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(1]
[6]
AvA-18  WHiE & HIFIC

cosO cos® _4
1—sin® 1+4sinb

Solve the equation :

cosB cos® —4
1—sin® 1+sinb

OR
fag wifo f&

1—cosB
14 cosB

= cosec 8 —cotB

Prove that

Jﬂ = cosec 8 —cot6
14+ cosH

~N
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